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Geography Model Test Questions 2 in English With Answers

1. Match list I correctly with list Il and select your answer using the codes given below:
List I List I
a) Punjab 1) Jute
b) Maharashtra 2) Paddy
c) West Bengal 3) Tobacco
d) Andhra Pradesh 4) Sugarcane
e) Tamil Nadu 5)Wheat
Codes:
a b C d e
(A) 3 1 2 4 5
(B) 5 4 1 3 2
© 4 5 3 2 1
(D) 2 3 4 1 5
2. Consider the statements:

I. India is a monsoon oriented country.

I1. South — West monsoon generally brings more rain to India

I11. North — east monsoon rains are mainly confined to eastern and southern India
IV. Monsoon is always a gamble in India

Of the statements:

(A) 1 alone is correct (B) I'and 11 are correct
(C) I, Il and 11 are correct (D) All the statements are correct
3. The following part of India is closet to equator?
(A) Minicoy island (B) Nicobar island
(C) Cape comorin (D) Lakshadweep
4. The total area from which all surface run-off is drained by a river is called its
(A) water shed (B) flood plain
(C) catchment area (D) interfluvial area
5. The longest coastal line is situated in one of the which Indian states?
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(A) Tamil Nadu (B) Kerala  (C) Andhra Pradesh (D) West Bengal
6. Dandakaranya forest is located in
(A) Southern India (B) North — Eastern India
(C) Central India (D) Western India
7. Rural electrification has helped
(A) village pottery (B) rural banking
(C) Power loom textiles (D) co — operative farming
8. In which one of the following areas pearl fishing is done extensively?
(A) Malabar coast (B) Konkan coast
(C) Coromandel coast (D) Gulf of mannar
9. Ukai project is located in
(A) Punjab  (B) Karnataka (C) Assam (D) Gujarat

10.  Which one of the following is the resultant of linguistic diversity in India?
(A) Area difference (B) Rural — urban variation
(C) Regional difference (D) None of these
11. Indian standard times is ahead of Greenwich mean time by
(A) 2% hours (B) 3% hours (C) 7% hours (D) none of these

12. Match list I correctly with list Il and select your answer using the codes given below:

List | List 11
a) Kerala 1) Tobacco
b) Andhra Pradesh 2) Ragi
c) Karnataka 3) Wheat
d) Uttar Pradesh 4) Coconut
Codes:

a b C d
A 4 2 3 1
B) 3 1 2 4
(c 4 1 2 3
(D) 3 2 1 4
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Consider the following statements:

I. Green revolution is for new innovation in Agriculture

I1. Green revolution is a must for food and cash production

I11. Green revolution is for self sufficiency in food

IV. Green revolution would minimize the industrial activity

Of these statements:

(A) I alone is correct

(B) 11 and 111 are correct

(C) I, I and 1V are correct

(D) I, Il and I are correct

The following two crops are the important foreign exchange earners to India?
(A) cotton and tea (B) Spices and tea

(C) Oilseeds and tea (D) coffee and tea

The headquarters of Indian Space Research Organization is located at

(A) New Delhi (B) Thiruvananthapuram (C) Cochin (D) Bangalore
Bandipur sanctuary is located in the state of

(A) Tamil Nadu (B) Uttar Pradesh (C) Orissa (D) Karnataka
The gas that is responsible for global warming is

(A) Carbon dioxide (B) Uttar Pradesh

(C) Methane (D) Sulphur dioxide

The first jute spinning mill was started at

(A) Baranagore (B) Oxygen (C) Chittagong (D) Kolkata
Total area of Tamil Nadu state is

(A) 1,30,000 sqg. km. (B) 1,50,000 sg. km.

(C) 1,70,000 sg. km. (D) 1,90,000 sq. km.

The Narmada river rises near

(A) Amarkantak (B) Nagpur (C) Abu (D) Betul

Which of the following states has the least area under forest

Learning Leads To Ruling Page 3 of 13




Indian Geography Prepared By www.winmeen.com

22.

23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

(A) Assam (B) Gujarat (C) Maharashtra (D) Karnataka
Chandraprabha wild sanctuary is located in

(A) West Bengal (B) Uttar Pradesh  (C) Assam (D) Kerala
Bhopal records high amount of rainfall in June which belongs to the season of

(A) South — West monsoon (B) North — East monsoon

(C) South — East monsoon (D) North — West monsoon

Tamil Nadu coast gets more rainfall during

(A) Summer season (B) South — West monsoon season

(C) North — East monsoon season (D) Winter season

Which state is the major producer of copper?

(A) Kerala  (B) Rajasthan (C) Orissa (D) Madhya Pradesh
Bokaro steel plant has been set up with the assistance of

(A) USSR (B) U.K. (C) US.A. (D) Germany

In which state the newsprint factory of Nepanagar is situated?

(A) Madhya Pradesh (B) Uttar Pradesh (C) Bihar (D) Maharashtra
Local supply of coal is not available to the iron and steel plant at

(A) Jamshedpur (B) Durgapur (C) Bhilai (D) Bhadravathi

Identify the incorrectly matched pair.

(A) Magnetite - Iron

(B) Cuprite - Copper

(C) Muscovite - Manganese
(D) Bauxite - Aluminium

The biggest oil refinery in India is at

(A) Mathura (B) Barauni  (C) Vishakhapatnam (D) Koyali

The Enron power project is in

(A) Andhra Pradesh (B) Bihar (C) Madhya Pradesh (D) Maharashtra
Silvassa is the capital of the Union Territory of

(A) Andaman and Nicobar (B) Lakshadweep
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(C) Dadra and Nagar Haveli (D) Daman and Diu

The maximum number of tribal population in India consists of

(A) Santhals (B) Bhils (C) Nagas (D) Todas
The new railways coach factory has been set up in Punjab at

(A) Amritsar (B) Ludhiana (C) Kapurthala (D) Jalandhar
The correct sequence in descending order of given states in coal mining in India
(A) West Bengal, Bihar and Madhya Pradesh

(B) Bihar, Madhya Pradesh and West Bengal

(C) Bihar, West Bengal and Madhya Pradesh

(D) Madhya Pradesh, Bihar and West Bengal

Aravallis fail to cause orographic precipitation in Rajasthan, because

(A) they are not sufficiently high

(B) the monsoon do not reach them

(C) they lie parallel to the direction of the wind

(D) they do not support and vegetation

Which one is not correctly matched?

(A) High pressure boiler plant - Trichirapalli
(B) Alumina plant - Mettur

(C) Copper smelting centre - Khetri

(D) Hindustan motors - Madurai

Match list I correctly with list Il and select your answer using the codes given below:

List | List 11
a) Steel industry 1) Ariyalur
b) Sugar industry 2) Pugalur
c) Paper industry 3) Mohanur
d) Cement industry 4) Salem

Codes:
a b C d
(A 4 3 2 1
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(B) 3 2 1 4

€ 1 4 3 2

(D) 2 1 4 3

National physical oceanographic laboratory functions at

(A) Kochi (B) Hydrebad (C) Goa (D) Mumbai

Now-a-days, the climate accidents are attributed to

(A) EI'Nino  (B) Monsoon (C) Nasca plate movement (D) Forest fire

Deutch mark is the currency of

(A) Poland  (B) Holland (C) ltaly (D) Germany

Match list I correctly with list 11 and select your answer using the codes given below:
List I List I

a) Kuchipudi 1) Tamil Nadu

b) Odissi 2) Orissa

c) Bharathanatyam 3)Kerala

d) Kathakali 4) Andhra Pradesh

Codes:

(A)
(B)
(©)
D) 1

N W b
w = B~ NN T
A W N
N B PP W o

In which state is silent valley located?

(A) Kerala (B) Tamil Nadu (C) Karnataka (D) Andhra Paradesh
The 13" Oil refinery in India has been set up at

(A) Panangudi (B) Ennore  (C) Narimanam (D) Thiruvananthapuram
The best natural port of India is

(A) Chennai (B) Paradip  (C) Mangalore (D) Mumbai

Which of the following is a joint venture of Tamil Nadu and Kerala?

(A) Tehri Dam (B) Rajghat Dam
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(C) Parambikulam Aliyar Dam (D) Theni Dam
Kaziranga National Park is created to protect

(A) Tiger (B) Elephant (C) Rhinoceros (D) Deer
Consider the following statements:

The 760 km. long konkan railways passes through the following states:
I. Kerala Il. Karnataka I11. Goa IV.Maharashtra

Choose the correct code:

(A) I, 11, 111 and 1V (B) land Il
(C) land 11 (D) I, Il and 111
NOTE: II, Il and IV

India is establishing the Koodankulam Nuclear power station in Tamil Nadu with the assistance of
(A) Japan (B) Germany (C) Russia (D) Italy

The Indian sub — continent was originally part of a huge land mass called

(A) Aryavarta (B) Gondwana continent

(C) Indiana (D) Jurassic land mass

Which of the following states of India have a common border with Bhutan?

(A) Assam, Arunachal Pradesh, Sikkim, West Bengal

(B) Arunachal Pradesh, Nagaland, Sikkim, Manipur

(C) Sikkim, Manipur, Mizoram, Tripura

(D) Tripura, Sikkim, Nagaland, Meghslaya

The Indian state having the lowest literacy rate is

(A) Bihar (B) Jammu and Kashmir (C) Himachal Pradesh (D) Sikkim

Match list I correctly with list Il and select your answer using the codes given below:

List | List 11
a) Mumbai port 1) Kudremukh iron ore
b) Tidal port 2) Natural harbour
c) New Mangalore 3) Petroleum products and dry cargo
d) Cochin 4) Kandla
Codes:
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Find the order of the following towns that lie in the National Highway No.7 from Kanyakumari

(A) Salem, Hyderabad, Jabalpur, Nagpur

(B) Salem, Nagpur, Hyderabad, Jabalpur

(C) Salem, Hyderabad, Nagpur, Jabalpur

(D) Salem, Jabalpur, Nagpur, Hyderabad

The largest spice growing state in India is

(A) Karnataka

Identify the incorrectly matched pair.

Mineral
A) Lead
B) Aluminium
C) Iron
D) Silver

(B) Assam

(C) Tamil Nadu (D) Kerala

Ore
Pyrolusite
Bauxite
Hermatite

Argentine

The norwesters help in the cultivation of

(B) Tea

(A) tobacco

(C) Coffee (D) Mango

Match list I correctly with list Il and select your answer using the codes given below:

List |
Rivers

a) Tambarabarani
b) Sarvathi

c) Narmadha

d) Cauvery

Codes:
a b
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List 11
Water falls

1) Kapildhara
2) Hogenakal
3) Banatirtham
4) Jog
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(A 4 3 2 1
B) 3 1 4 2
() 2 1 4 3
(D) 3 4 1 2
59. Identify the incorrectly matched pair.
Mine State
A) Jharia - Orissa
B) Raniganj - West Bengal
C) Singareni - Andhra Pradesh
D) Korba - Madhya Pradesh

60.  Which of the following is not a tropical hard wood?
(A) Mahogany (B) Ebony (C) Pine (D) Teak

61. Find the descending order of the following states with respect to their population as per 1991
census

(A) Assam, Tamil Nadu, Bihar, Himachal Pradesh

(B) Bihar, Himachal Pradesh, Tamil Nadu, Assam

(C) Bihar, Tamil Nadu, Assam, Himachal Pradesh

(D) Tamil Nadu, Assam, Bihar, Himachal Pradesh
62.  Which Indian State is known as land of five rivers?

(A) Uttar Pradesh (B) Punjab (C) Haryana (D) Guijarat
63.  Which of the following is not true about Gujarat?

(A) Largest producer of salt (B) Largest producer of milk product

(C) Largest producer of tobacco (D) Largest producer of groundnut

64.  Which of the following States has the maximum density of canals for irrigation?

(A) Uttar Pradesh (B) Punjab  (C) Bihar (D) Tamil Nadu
65. In which state of India, is the Aravalli mountain range located?
(A) Himachal Pradesh (B) Rajasthan (C) Maharashtra (D) Orissa

66. Consider the following statements:
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I. The mango showers occur during hot season
I1. But the amount of rainfall is very less
I11. Mango showers are otherwise known as coffee showers

IV. The rain helps in the flowering of mango and coffee

Of these:
(A) I alone is correct (B) I'and Il are correct
(C) I, I and 11 are correct (D) All are correct

River Wardha is the tributary of

(A) Godavari (B) Krishna (C) Narmada (D) Sabarmathi
Consider the following statements:

Assertion (A): Thar desert is a region of island drainage.

Reason (R):  This region receives very low rainfall.

Of these:

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

The world’s longest dam is the

(A) Nagarjuna Sagar Dam  (B) Mettur Dam (C) Hirakud Dam (D) Ukai Dam
Pearl fishing is carried on at

(A) Tuticorin (B) Kandla (C) Cochin (D) Paradip
Consider the following statements:

Assertion (A): The presence of Aravallis is responsible for the desert in Rajasthan.

Reason (R):  The direction of Aravallis is parallel to the direction of the Arabian sea branch of
the south west monsoon.

Of these statements:
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
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(C) Both (A) and (R) are false

(D) (A) is false, but (R) is true.

The world’s longest river is

(A) Nile (B) Brahmaputra (C) Amazon (D) Mississippi
Which of the following is not a plantation crop?

(A) Jute (B) Coffee (C) Tea (D) Rubber

The state which leads others in the production of tea in India is

(A) Assam (B) Kerala  (C) Tamil Nadu (D) West Bengal
The Indian Institute of Petroleum is located at

(A) Kolkata (B) Mumbai (C) Digboi (D) Dehra Dun
Soil exhaustion can be checked by

(A) land following (B) over cropping

(C) over grazing (D) deforestation

Largest gulf in the world is

(A) Gulf of Mannar (B) Gulf of Cambay

(C) Persian Gulf (D) Gulf of Maxico

Seismograph is an instrument used for

(A) measuring rainfall (B) measuring temperature

(C) recording the earthquake shocks (D) measuring pressure

The annual range of temperature is always less in

(A) Mediterranean region (B) Equatorial region

(C) Savanna region (D) Monsoon region

India exports large quantity of the following mineral:

(A) Manganese (B) Bauxite (C) Chromite (D) Gypsum
Kimberley is known world wide for its production of

(A) Diamond (B) Copper (C) Gold (D) Tin
Eskimos belong to the racial group of

(A) Negroids (B) Australoids (C) Caucasoids (D) Mongoloids
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The leading producer and exporter of natural rubber in the world is

(A) Malaysia (B) Myanmar (C) Indonesia (D) India
The Textile town of Japan is

(A) Kyoto (B) Kobe

(C) Osaka (D) Yokohama

Rift valley is formed between two

(A) parallel faults (B) parallel folds

(C) anticlines (D) synclines

Agriculture carried out along the hill slopes is called as

(A) Terraced cultivation (B) Intensive cultivation
(C) Commercial cultivation (D) Extensive cultivation
Selvas are

(A) Coniferous forests of Siberia (B) Evergreen forests of equatorial regions
(C) Monsoon forests (D) Thick forest cover in Canada

Veldts are temperate grasslands of

(A) South America (B) Southern Australia

(C) Southern Island of New Zealand (D) South Africa

Crude oil is available in Tamil Nadu at

(A) Thanjavur (B) Karaikudi (C) Nanguneri (D) Narimanam
Name the currency of Japan

(A) Kroner (B) Rouble (C) Yen (D) Rupyah
Which is the largest city in India?

(A) Chennai (B) Delhi (C) Mysore (D) Kolkata
Which country stands second in the world in Prawn production?

(A) China (B) Japan (C) Phillippines (D) India
Which of the following rivers is not a tributary of the Ganges?

(A) Gomathi (B) Gandak (C) Kosi (D) Ghagra

In which state, silent valley is situated?
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(A) Tamil Nadu (B) Karnataka (C) Kerala (D) Orissa
The highest number of wind mills in Tamil Nadu is located at

(A) Kayatharu (B) Namakkal (C) Trichy (D) Nagercoil
The largest Dam in India is

(A) Hirakud (B) Bhakra Nangal (C) Nagarjuna Sagar (D) Mettur
Which river is called as the male river in India?

(A) Godaveri (B) Ganga (C) Brahmaputra (D) Cauvery
The bird sanctuary in Tamil Nadu is situated at

(A) Vedanthangal (B) Yerkad (C) Mudumalai (D) Marudamalai
In which state, the hill station Ooty, Yerkad and Elagiri are found?

(A) Andhra Pradesh (B) Madhya Pradesh

(C) Karnataka (D) Tamil Nadu

With which crop, the green revolution in India has been associated?

(A) Sugarcane (B) Rice (C) Wheat (D) Pulses
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